EARAROBEEIERT — 2 N— IBISH —F

20158 2R 250 (k) 18mEA#3H

BEN >%3% 8251 457%%

‘ [Rfg] 2 ‘ [FEERR] — | 4 (&) 12000 &=

[A~&E£] 17 :1,300,000  ~ 2 3&:455,000 0

3 & :260,000 @

4 7% 195,000 F 5 3& :130,000 M

B\ ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N EARREE 112, - . - SAEfR (K3
il 71>zas¢ it 3 S 1(1_2)7 5-5 37.0 1 ;1+719) Eéaafu%L
¥ ovv¥ /%% BT F—Fvy b AEKS
S B - EIHEER :13. - . - EER (K3
517 g HUANY —t—5 4 3 54.05 1(143)4 1-1 37.9 6 (4_110) Efé%
R:271)—>k—A— B:LYzb> A OER
[N . = EHEZ : = — BER (KH)
slgli| YN/ T i 3 FHRE (17;1;,;4) 3-3 37.9 5 ;1_784) FEE
R:2&2—-U>70-X B:HALITYT A #%5
. R FEZ : — — KA (KH)
7l TR/ By = 3 ol (11.113/.27) 9-9 37.5 8 (4_9;6) e
R:T7T2745—714>9 B:RU—-LYTF AHHE BE
o — = — St :13. — . — RN (KHF)
6 VA A S "3 ;E_JO 1(11/32)8 66 98 2 (4235) HERK
RTANET Yy BINTITY HET 7 — L
HEIBThE :13. = . = SRR (/I\HE)
3|73 M — 4 3 i 1(11/32)9 1-1 38.4 4 (4:33 Ten
R:YZZXE—3ZR4— BAATAT+—1— RS
- . SEER : = - WRE (KH)
NESETAN S 4 3 i 1.(124>.3 12-11 | 37.4 9 ;1_574) L
L:ZX—=bXNK BTV o7y T EANILBS S
= = O] ft 3 | EHE— 1:14.4 6-6 38.4| — 12 | 439 | SELLBEEE ()\HE)
10| 73¥xEaS 50 A 1) | EEEAE
R:hTAZ2Y BuXEIL TS L—Zh—2Z
PSS RA . B3 | )% 1:14.6 6-8 38.6| — 7 412 | REZEHE (KH)
2| 77 KNIy F 54.0 A 1/4) (-4 |k slnternational (
LT TRy b BiIATYNN=FR BERS
e f 3 | WHEA 1:14.9 10-10 [ 38.6| — 1 515 | USEH=ME (KH)
1w s| T-A77747 540 (4 1/2) o | 8 A K1z
R:F4—TZHA BHATA)2—V> Hh #BZ
¢ A o3 | Wisst 1:15.1 11-12 | 38.6| — 3 453 | MA@ (KH)
11/5/| 5 mVAWRY B 7 56.0 (1 1/4) -7) AR
Z:anNs 79y BaN/IJaXT4q AW 728
s Np— BHEAH : - — B (KH)
1lglip| ¥y rre57 3 o] 1.(115).3 4-4 39.6 10 (4_439) e
LY IRYG4 G52 B: 24— hrA-F T35 Niis
® I —F—EBIERL
13—7—
23—7F—
G§a=7r= (3,9),11,12,1,(2,6,10),7,8,5,4
40—F— (3,9),11,12,1,(6,10),2,7,8,4,5
[ RN
B OB 1 110 714K 1-9 410 e & 1-7 850M &R 1-9-11 4,470
7 B 1 110 1-11 4401 | | # B 1-7 940M | | 3EH 1-9-11 10,410
9 280 9-11 2,820 B E 1-9 900
1 290M B H 1-9 970M

ABICOVWTRDTEEERROODE. TR LIV,




